e 310—81930 [y 1 DO NOT SCALE | ~@ - = THIRD ANGLE PROJECTION|IF IN DOUBT ASK

Kit Contents
NEWALL Heavy Duty Bracket Kit
Part #EP-2722
For Spherosyn encoders

>100" travel

ED—3132 ED—-3133 294—60650
Scale Clamp (2) Angle Bracket (2) Jacking Plate (2)

Cable Clamp (6) Cable Clamp (5)

M8 x 30 Socket Head Screw (4) | i M8 x 25 Socket Head Screw (8)

M4 Self Taping Screw (11)

M5 x 40 Socket Head Screw (2)

M5 x 20 Socket Head Screw (2)

M6 x 20 Socket Head Screw (2) M6 x 20 Set Screw (8)

M8 Washer (8)
M5 x 20 Hex Head Screw (4)

Shims (.002" Peel Away) (2)

TITLE. MATERIAL /FINISH. SCALE UNLESS OTHERWISE TOLERANCES: — 0 DECIMAL PLACES £0.5
K/ 7— CON TEN 7—5 S/_/EET ______________________ N/A STATED: — 1 DECIMAL PLACE £0.2
2 DECIMAL PLACES £0.1
DIMENSIONS ARE IN M.M. ANGULAR +1°
1 |17/12/13(ECN9373| Alteration for Inch to Metric Project ~ CWh DRAVN C.WHITMORE |11-12-13 EWAL R SHEET |DRAWING jﬂ 6 8W 9 3 O REV. /‘
REVISS|DATE|C.N.No ALTERATION APPROVED Leicester England| T NORIATOR FEROLUATACLERPED R USD 14 oF 1 | NUMBER ISS.




